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1) 2) 3)

–

7 8 0, 0 0 0

5 2 7, 3 5 4 –

5 5 9, 6 3 4

4 3 6, 6 3 2 –

3 6 7, 2 4 9

2 5 6, 1 4 5

4)

–

9 1 3, 8 5 2

8 5 3, 4 9 7

5)

–

6 2 9, 0 4 3

3 1 4, 5 8 8

6)

–

7 9 1, 5 9 8

7 2 0, 4 8 0

7)

–

2 4 6, 9 7 5

1 0 5, 5 4 3

8)

–

8 2 5, 3 6 1

5 6 8, 1 4 3

9)

–

9 8 1, 0 5 6

6 5 2, 3 6 7

6-Digit Subtraction

The overall population of American black bears in the United States is

estimated to be around 465,000, with around 100,000 inhabiting Alaska.

Find the number of black bears outside Alaska. 

A fruit company delivers 579,536 boxes of apples and oranges over a

period of six months. If 314,280 of the total boxes delivered had apples,

how many boxes of oranges were delivered?
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